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Time: 3 hrs. <§\ Max. Marks: 80

Note: Answer any FIVE full q‘%ﬁf‘pns, choosing one full question from each module.

\\\5 Module-1
1 a. Explain different ch%\ eristics of the Al problem used for analyzing it to choose most
approprlate metheﬁ‘i\\ (08 Marks)

b. A water jug problem states “you are provided with two jugs, first one with 4-gallon capacity
and the se@/ﬁe with 3-gallon capacity. Neither have any measuring markers on it. How

50, will be treated as malpractice.

- gn can you % ctly 2 gallons of water into 4-gallon jug”?
=g &&e own the production rules for the above problem.
§ ii) fte any one solution to the above problem. (08 Marks)\ >
A 5’?\
2% 2 OR 5ol
= R O
5 2 \ xplain the Best-First search algorithm with an example. (0@3\4&%)
25 Y \Vb”“ List various task domains of Al © \(04;Marks)
5 <2 6‘“‘\;*%_ Explain how AND-OR graphs are used in problem reduction. ':;;\@66 Marks)
N

Module-2
Consider the following set of well formed formulas in predicate loglc (&\
i) Man (Marcus)

2. Any revealing of identification, appeal to evaluator and /or e

i) Pompeian (Marcus) (;C f'
iiiy  Vx:Pomeian (x) > Roman (x) (@\,\

iv)  Ruler (Caeser) /%

V) Vx : Roman (x) — loyalto (x, caeser) v hate (x @s

vi) Vx:y loyalto (x, y)

vii)  Vx: Vy Man(x) A Ruler (y) A tryassassm >y) — loyalto (x, y)

viii)  Tryassassinate (Marcus, Caeser). {'} (10 Marks)
t

Convert these into clause form and prove that hate (Marcus, caeser) using resolution proof.
b. What is “Matching” in rule based systen\\

%

4 a. What are properties of good@y&Mor the representation of knowledge? Explain different

fly explain different proposals for matching.
(06 Marks

approaches to knowledge re rg\\é‘ntatlon (06 Marks)
b. Distinguish forward and b% ward reasoning explain with example. (06 Marks)
c. List the issues in kn(@visdge representation. (04 Marks)

C//
\%\ Module-3

5 a. What are 5@( géues which needs to be addressed by non monotonic reasoning system?

=

Important Note : 1. On completing your answers, compulsorily draw diagonal

Explam (06 Marks)
b. n the motivation for fuzzy logic. (04 Marks)
c. ow semantic networks are used in representation and reasoning. (06 Marks)
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6 a. Explain non monotonic logic and default logic ii%;i&xample. Which are the two common

kinds of nonmonotonic reasoning defined in ﬁﬁ\; éics? (06 Marks)
N

. State Baye’s theorem. How it is used in st@iéX reasoning? (04 Marks)
c. Write a short note on Frames. @ (06 Marks)
-~/
& Xule-4
7 a. List the components of a script/5, ™ (04 Marks)

b. Explain the MINIMAX algog‘;}“\i\ﬁi\) Consider the following game tree in which static tree are
all from the first players \Q\oi;r}t\mf view. Apply MINIMAX algorithm to decide which move
to be chosen (suppose@ st player is the maximizing player). (12 Marks)
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<\f‘\\> ~'8 a. Listthe rules of conceptual dependency. ~ Q’i%/\ (06 Marks)
&\\:ﬁ b. Why should we want to build large knowledge bases? QY (04 Marks)
N N c. Write a note on iterative deepening. ()’q\g\\\\} (06 Marks)
Module-5 /’\\%
9 a. Explain various steps involved in natural language understa ﬂ& process. (08 Marks)
Write a note on knowledge acquisition. /(\f& (04 Marks)
c. Explain how decision trees are used in learning? @ \\\E/ (04 Marks)
NS
OR o
10 a. Distinguish between semantic grammars andﬁcg\%: grammars with examples. (06 Marks)
b. Explain the process of the learning from ?ﬁ@ples. (06 Marks)
c.  What capabilities are expected from ex@ stems? (04 Marks)
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